CHAPTER 2
r
Pythagoras theorem SRR EXCEL YEAR 8 MATHEMATICS

{ ) . . Ch. 7.1, p. 101
; Naming the hypotenuse of a right-angled triangle °
Question1 ~ Name the hypotenuse of each right-angled triangle.
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: QUESTION2  Name the hypotenuse of each named triangle.
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Question 3  Complete the following statements. ;
a is the length of the hypotenuse. ‘
b is the length of the side opposite ZA c a
c is the length of the side opposite £B
d is the length of the side opposite £C A5 ¢
e is the area of the square on the side opposite ZA
f is the area of the square on the side opposite £B
g is the area of the square on the side opposite £C
h is the name given to the longest side of AABC
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PythagOl’aS’ theorem @EXCELYEARHMA‘I‘HEHATICS

J ch.7.1,7.2,p. 102,103

Naming the sides of a right-angled triangle

QuesTion1 Complete the table below for each of the following triangles and verify that the square on the
hyotenuse is equal to the sum of the squares of the other two sides.

o | ~l 1 | U, BTwW N e

1 A__ 12 ¢ 2 B 3 ¢ 4 A
10 '
15 24 34
16 9 16
20 A
26
A 5 ¢ B ‘C 30 B
B
5 ¢ 3 A 6 20 7 ¢ 8 A_ 6 ¢
¢ A 12
> 8
4 : 15 25 A 10
13 B
B B
B
9 B 10¢ 40 B 11 ¢__18 A 12 A 82 B
17
18
8 9 I 24 /50 50
A 15 C A B ¢
a b c a? b? c? at + b?
1
10 ’L
11 |
_ i
L ER "li
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Pythagoras’ theorem

R\ EXCEL YEAR 8 MATHEMATICS

O=

Selecting the correct Pythagoras’ rule

1 a

@t =0+ ¢

b ¥*=a?+¢

c

14

@ =a? 4 b7

@ =e?+f
= +f
fi=d’+¢e?

F=h+7P
=g+

2= g2+ 2

P=kK+F
kK=p+P
B=p+k

m='n? + o?
ne=m+ ol

o*=m + i

pPr=g+r
G =p*+r

ri=p?4 g

=yl
t* =52+ 12

=5+t

Ve=wi+x?
W= v2+ x*

Xt=y2 oyt

C B

2 a
b

Y=+ 2
2=+
az=y2+22
P=c+d
=+
@ = b+ &
C et = P
Fec+g
g=e+f
h2=f2+j2
f=h 4
j2=h2+l?
KB=P+m
(2=k+m?
m=K+[
n2=02+p2
0% = n? + p?
pP=n?+ 02
G=r+s°
rt=g+¢°
sE=g%+ P
eyt
V=1 +
F=ut

Ch. 7.1, p, 102
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Pythagoras’ theorem

SO EXCEL YEAR 8 MATHEMATICS

Squares and squareroots

Use your calcutator to find the following squares.

152 =

92?

72=

85% =

Use the square root key to find the following.

Use the square key to find the following squares.
3.2) =

Find the square roots correct to 1 decimat place.

V1 =

>
I

><m

i
[l | o ™
= [{e]
583

S
I

>
Lot
I
™o
3]
v

(5.6)% =

(6.7)2 =
(8.32)% =

(5.41)% =

(5.3)2 =

(6.8) =
(9.2)2=

V6.58 =

+/3.25 =

~6.75 =

v8.123 =

QuesTion 1

a 5= b
d 31*= e
g 56°= h
j 322= k
QuesTion 2

a 4= b
d 16 = e
g 25 = h
i V144 = k
QuesTiIoN 3 Use your calculator to find x.
a x*=+784 b
d x?=+169 e
g x'=+441

j  x*=+256 k
QuesTion 4 Square the following.

a (13)= b
d (5.2)7= e
g (8.3)y= h
i (9.7 = k
QuesTioN B

a (5.61)7= b
d (7.8)= e
g (5.9)= h
i (6.7)¢= k
QuEsTION 6

a 5.4 = b
d +81-= e
g ~7.69 = h
j +8.23 = k

EXGEL ESSENTIAL SKILLS: YEAR 8 MATHEMATICS REVISION AND EXAM WORKBOOK 2~ EXTENSION

Ch. 7.2, p. 103

c 282«

i 612=

{ 78 =

¢ (7.9 =

f (8.35)=

i (11.25)=

L (22.2)2=

¢ (6.31)=
f (13.5)2=

i (15.2) =

[ (8.95)=
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.nytfh'a-goras’ theorem

A EXCEL YEAR § MATHEMATICS

£/ ch. 7.3, 7.7, p. 103, 108

Finding the length of the hypotenuse

Find the length of the hypotenuse in each of the following triangles.

QuesTion 1
All measurements are in centimetres.
a 4 b ¢ 6
X 5 )
3 7 ’ 8 %
12
d i 10 e f
8 15 24
X 24 7
X X
Question2  Find the length of the hypotenuse correct to 1 decimal place. - ’
All measurements are in centimetres.
a 5.3 b ‘ 3.1 c
8.5 X
8.2 ¢ N\ l6.4 )
11.1
d : e f
X 2t 5.3 15.7
| 4.8 ' 10.3
73 x X
g h i
X 7.9
5.9 X
6.4 8.7 X 3.2
4.1
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Pythagoras’ theorem | R

Finding the length of one of the other sides Ch. 7.4 7.7, p. 105 108

QuesTioN 1 Find the length of the unknown side in each of the following triangles.
' All measurements are in centimetres.

X .
a b ¢ i
10 . 7
8 15 17 B
_ | 25

QuesTIoN 2 - Find the length of the unknown side correct to 2 decimal places.
All measurements are in centimetres.

a A b c
14.8
3.70\ J5.1
10.5 X
d e 2.3 f X
18.6
X 4.9
8.7\ |” 11.5
6.7
g ¥ h i X
3.4 19.2 12.5
23.4
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Pythagoras’ theorem

Mixed questions on Pythgoras’ theorem

2 " EXCEL YEAR 8 MATHEMATICS
&/ Ch. 7,p. 101-110

QuesTion 1 In each of the following triangles find the length of the unknown side.
All measurements are in centimetres.

a b 8 C X

17

4 i f i 3
X
d e - - f —r
X 40
25 . x 6
41 1
— = i2

QuesTioN2  Find the length of the unknown side correct to one decimal place.
All measurements are in centimetres.

a 0\ b C 4
2480 T
v 1%
d I e f
' 15
X 7 X 3.5 ‘ X
[]
7 = 8.3 24
1} h i
5.8 1.9 ' 15.3
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PythagoraS’ theorem 4 EXCEL YEAR 8 MATHEMATICS

Pythagorean triads - 707576, p 106,107

QuesTioNd  Which of the following are Pythagorean triads?

a {2, 4 5} b {7, 12, 13} ¢ {4 12,13}
{3, 4, 5} - f {6, 8, 10}
18, 13, 17} i {8, 15, 17}
{9, 40, 41} L {16, 30, 34}

-3

d {8, 10, 12}

R i DT PR

u
o i R Py
PR el 2

=2

g {5 12, 13}

~

e

j {7, 24, 25}

QuUESTION2  Prove that the following triangles are right-angled triangles.
b

gt

o

T bl S i

L)

41

40

A
3
) 4
7
24
25
8 12 5
10 ‘ 13
48
14
N

A

2 emmrre

_‘U
o
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D e

(=2

: e i o e e
5 ; e T e

"
e

e

e
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iPythagoraS’ th eorem @EXCELYEARBEMWE%MTICS
Problem solving and Pythagoras’ theorem € 7:8p. 110

Find the tength of the unknown side correct to 1 decimal place. All measurements are in centimetres.

7 Find the length of the diagonal of a rectangle of length 28 cm and width 9 cm. (Answef correct to 1

decimal place.)

8 Find the length of the diagonal of a square of side length 7 cm. (Answer correct to 1 decimal place.)

9 What is the altitude of an equilateral triangle whose sides are each 12 cm? (Answer correct to 2 decimat
places.) '

10 In a right-angled triangle, the longest side is 49 cm and the shortest side is 12 em. Find the length of the
third side correct to 2 decimal places.

11 The hypotenuse of a right-angled triangle is 45 cm. If one of the short sides is 16 cm, find the tength of
the other side to 2 decimal places.

12 A 6 metre ladder rests against a wall and its foot is 3 metres away from the base of the wall. How high
does the ladder reach up the wall? (Answer correct to 2 decimal places.)

Find the length of the unknown side in each of the following triangles. (Answers correct to 2 decimal places.)

13 14 X 15
3 6 12,5 X
3.2 % 7
5.6

X
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Pythagoras’ theorem

TOPICTEST

PART A

Instructions s This part consists of 15 multipie choice questions
« Fill in only ONE CIRCLE for each question
« FEach question is worth 1 mark
e Calculators may be used
Time allowed: 15 minutes Total marks = 15
Marks

1

10

V5 is closest to

@ 2 | 2.2 © 2.23 O 2.24

Which of the following is not a Pythagorean triad?
@& {8, 8, 10} {5, 12, 13} © {9, 40, 41} O {7, 25, 26}

The Pythagorean result for a triangle ABC with hypotenuse BC is
@A a*=6+2 ® p=a+c © a=¢-# O c=p+a

If two sides of a right-angled fn'angle are 7 cm and 24 cm, then the hypotenuse is

@ 23cm 24 cm © 25cem @ 31cm

In a right-angled triangle, the side opposite the right angle is calted the
@ shortest side middle side © hypotenuse - @ none of these

Which one of the following triads determines a right-angled triangle?

@ {89, 12} {11, 10,15}  © {9, 11, 20} D {16, 30, 34}

Pythagoras’ theorem can be applied to
@ acute-angled triangles obtuse-angled triangles
© right-angled triangles ) any triangle

Find the area of a rectangle which has a diagonal 10 cm long and one side 6 cm long.

@ 40 cm? 48 cm? © 60 cm? O 80 cm?

Given that = % + b2and a = 10 and b = 24, what is the value of ¢?

@A 26 28 © 576 D 676

The hypotenuse of a right-angled triangle is 17 cm. If oﬁe side is 8 cm, the third side is

@ 9cm 11 ¢m © 13cm O 15cm

-]

e
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i 7 . Marks
| 11 Which of the following is a Pythagorean triad?
%? @ {5, 10, 17} (5,12,13} © {512,144 © {5 20, 25} 1
12 A triangle is said to satisfy the rule ¢ = @® + b*for which special triangle?
@) acute-angled right-angled © obtuse-angled @) any 1
5 13 The longest side of a right-angled triangle is called the
@ shortest side middle side © hypotensue D none of these 1
I 14  If 12 = 625 then n equals
I
i @A 15 25 © 35 O 45 1
15  The two shorter sides of a right-angled triangle have lengths 12 cm and 5 cm. What is the
square of the length of the hypotenuse?
@ 13 119 © 169 O 289 1
Total marks achieved for PART A 15

22
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Pythagoras’ theorem

TOPICTEST

Instructions e This part consists of 15 questions
« Fach question is worth 1 mark
o Write answers in the ‘Answers only’ column

Time allowed: 15 minutes

Total marks =

Questions

1 If ¢ = 4761, find the value of a

2 Is {8, 15, 17} a Pythagorean triad? A
: 5

3

3 Is AABC a right-angled triangle? Ac
B 4

Find the value of the unknown side in each triangle below.

4 8 cm . 6
. cm
35 em 14 cm
10 cm

48 cm

Find the length of the unknown side in each triangle correct to
2 decimal places.

Answers only

8 o 1lm
X X 12 m
5m 6 m
X
10m 13m

10 If the two shorter sides of a right-angled triangle are 9 cm and 11 c¢m,

find the hypotenuse.

11 Find the length of the diagonal of a square of side 8 cm.
12 Find the height of an equilateral triangle whose sides are 16 cm.

13 Find the length of the diagonal of a rectangle of length 20 cm
and width 8 cm.

14 Find the value of x.

15 The hypotenuse of a right-angled triangle is 42 cm. If one of the
short sides is 20 cm, find the length of the other side.

Total harks achieved for PART B

1 WORKBOOK 2~ EXTRNSION:

il 4
by e g

ATt o o 7 st st g

e e,

Sy, baap

DR




Pythagoras’ theorem
TOPIC TEST

Instructions e This part consists of 4 questions
+ Each question is worth 5 marks
» Show all necessary working

PARTC

i Time allowed: 20 minutes Total marks = 20

3 { o ) ) ) Marks
1 1 a Find c given that &= 122 + 52 b Find g given that 100 = a® + 64
i . ¢ Find V225 d Find x ﬁa
' | 4
e The longest side in a right-angled triangle is called a 5
2 a A trangle is said to satisfy the rule ¢ = a2 + b? for which special triangte?
i
b Findc 5[;
8
¢ The longest side of a right-angled triangle is 17 cm. If one side is 15 cm, find the length of
the third side.
d Find x in the given triangle. 7 m P , .
e Find y in the given triangle. — ~ ’ 5
42m 10.5m c
a[ :
3 a State Pythagoras’ theorem in terms of a, b and c. p
_ 12m Xee 10 cm X=

J d Find x in the given diagram. 4.8 m

e Find y in the given diagram. y 14m s

' 4

[ 4 a b Xm
E ¥ 2 X 19] b
e X= 7ox=
g 5.6 13.9 y= 17
‘o |
f f" ¢ A ladder 3.8 m long is leaning against a wall. The foot of the tadder is 1.4 m away from the
- bottom of the wall. What is the height of the wall? .
i
" d Two flag posts are 9 m and 12.5 m long and 24 m apart. 125
, E Find the length of the string needed to join the tops of the two posts, 2m = m 5
i ' 24 m

Total marks achieved for PART C 50
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A_nswers

Pace1 1 a8 b 137 c 178 d 217 e 227 f 6456 ¢ 117.372 h 159.25 i 161.535 j 45.95 k 152.95 L 192.26
2 a 17595 b 1328 c 285.32 d 54.11 e 426.4 f 215 g 2554 h 1113 1 1182 j 554.2 k 123.4 [ 125.4

7 1 19 23 5 '
3 — 1— 1— 4— 7— 3% b 19 3 . .

] 12 b 1 ¢ Y d 36 e 5 f13 4 a 35 ¢ 51 d 344 e 2977 f 425 g 27.553 h 49.78
i 58.05 j 17.8 k 493.3 | 8848 5 a 20.46 b 5911 ¢ 25.085 d 97.48 e 13.73 f 7.9 g 44.63 h 1459 i 10.8

5 4 4 1 5 2 1 9 16
407 K 60LE 1438 68 - b — ¢ - d — e -— f= g2— h 15— i 1—
] k 88 6a bm ey @0 ¢ T T9 %3 0 '

PageE2 1a315 b 608 ¢ 1029 d 1632 e 2336 f 2404 g 74.43 h 1265 i 117.04 j 12051 k 209 [ 109.8

1 7 19
2 a54 b23.14 ¢ 52.08-d 476 e 2184 T 2448 g 17E h 14718- i 18§§

b 936 ¢ 1218 d 1512 e 1245 f 2116 g 46.25 h 17.115 i 8294 4 a 20 b 12 ¢ 109 d 107 e 511 f 48

. 1 17 90 21
17.6 23 141 5a 421 b i2d 18.2 d 25.6 5674 f 2 37 h30 i1— j — k 2— 2~
g h 3 i4a a ) ¢ 8.2 e 4 f 2252 ¢ > 0 i = 1 79 o1 L 53

7 2
j 46— k 176— 3
3 27 1 5 a 988

6 a4 b8 ¢729 d127 e 25 f0.42 g 296 h 216 i17

PAGE3 12 100 b 8300 ¢ 1000 d 600 e 100 f 100 g 900 h 300 i 800 j 6400 k 6100 | 8500 2 a 9000
b 1000 ¢ 2000 d 5000 e 8000 f 10000 g 10000 h 1000 i 6000 j 6000 k 1000 [ 8000 3 a 832 b 0.93
c72.36 d 92.61 e 0,22 f65.12 g 53.81 h 36.21 19299 j 9831 k 48.12 1 63.13 4 a 1.8 b 9.4 c 15.1
d39.2 e 631 8.3 g93.9 h 582 9.2 j5.4 k689 530 5a92 b 370 c 5800 d 6600 e 9400
£57 g 910 h 510 § 920 j 1900 k 830 1 910 6 a 9360 b 5690 c 81300 d 56.1 e 83.8 f 987 g 67.8

h 916 § 863 j 110 k 72.6 1 982

Page4d 1a19 b32 c58 d60 e 82 £180 g 60 h 496 160 j 15 k 478 1 60 2 a 453.1 b49.2 c 64
d35 e 64512 f 118.4 g 2032 h 27.65 3 a 19522 b 16 ¢ 52 d 14.06 e 9.402 f 169 g 1612.85 h 9.546

- 2 2 1 3 1 9 2 1
{ -5. . . 4— 8— d — 48— fo6— 26— 2— i i 3—
i-5.2 j 2683 k 261.744 1 230 4 a 3 b 10 ¢ 3 3 e 3 f 3 g‘ 16 h 5 113 3 3

8 4 7 ) .
k 85 l 4-25_; 523469 b 1458 c 16 d 1146 e 120 £33 g 7.5 h 50 i 47.66 6 a 23.205 b 277.98 ¢ 9.3
d 37.6 e 10.008 f 6.24 g 0.17578125' h 27.62 i 885..5 ’

PaGeES 1 a9 b 49 c8 d25 e 121 f 169 g' 1681 h 2304 i 3969 j 3364 k 2.89 | 8335.69 2 a 8 b1i25
c 512 d 9261 e 314432 f 373248 g 1024 h 1296 1324 § 256 k 729 l 39.0625 3 a 9.261 b 75.69 c857.375
d 11 698.5856 e 328.509 ¥ 112 1513121 g 50 625 h 4032.25 1 85.766 121 j 5112.25 k 6331.625 [ 3769.96 4aé6.3
) 1 1
b 2.1 ¢ 4521.2 d 746 e 65.6 f 4173.3 g 753.6 h 380.25 i 7312 § 46.7 k 3336.2 L 644 5 & 52 b ‘27

1 7 7 1 19 24 .,1 .25 47 1
c316 d 189 e19064 f316416 g1227 h 1225 13435 ;1164 k 5254 l1816
Page6 1az2 b7 ¢9 d4 ei10 15 g11 h30 1142 j13 k5 11 2a3 bis ¢c5 d2 e27
fa446 g4 hi8 i 2222(3dp.) j5 k20 1 3865(3dp) 3 a 7131 b 19.48 c 2.08 d 10.82 e 452 f 4.53

g 931 h 492 {494 j 13.47 k 228 11312 4 a2 42 b5 c 46 d -0.45 e 5.2 f 313 g 144 h 27.6 113.0
j1.9 k381 1193 5 a 3.623 b 2.050 c 3.640 d 3.252 e 2.566 f 5439 g 3.081 h 2776 i -0.013 j 0.237
k 2136 | 1.504 m 1.950 n 2.743 o 2.561

PageE 7 1 $47.25 2 3.51m 3 68.0625 m> 4 42.875 cm® 5 $405.60 6 $1223.75 7 $36.40 8 9.21 9 2653.56 ¢’

1
10 29 cm 11 70.98 12 35 13 3.03 14 $61.80 15 21
Prges B&9 1¢ 2C 3A4C 5B 6AT7TA 8B 9B 10C 11 A 12 A 13C 14C 15 ¢C

' 3 . .
Page 10 1 -40 2 $34.75 3 4220 4 51 5 0.18 6 105 7 82.15 8 -130.7 9 2004 10 1908,77 11 0.06

12 643 13 103.86 14 1383.79 15 88.31

Pace 11 1 a 285.765 b 286 ¢ 285.77 d 290 e 2858 2 a 746.35 b 7.57 ¢ 7.15 d 517.25 e 22.44 3 a 9.930
b 154.300 ¢ 174.212 d 24.658 e 8236 4 a 75.3 b -4.05 ¢ 1.68 d 2.07 e 158

Prae121ac bfch ddl eMN fPR 2aAB bEF ¢JL dPQ eAC fVZ 3acbachdec ed
f&® g ¢ h hypotenuse

Pace 13 1 16, 12, 20, 256, 144, 400, 400 2 9, 12,15, 81, 144, 225, 225 3 24, 10, 26, 576, 100, 676, 676 4 30, 16, 34,
900, 256, 1156, 1156 5 4, 3, 5, 16, 9, 25, 25 6 15, 20, 25, 225, 400, 625, 625 7 5, 12, 13, 25, 144, 169, 162 8 8, 6, 10, 64,
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Answers

36,100, 100 9 8, 15, 17, 64, 225, 289, 289 10 40, 9, 41, 1600, 81, 1681, 1681 11 24, 18, 30, 576, 324, 900, 900 12 80, 18,
82, 6400, 324, 6724, 6724

PraE14 1 ¢c 2¢c 3b 4c 5¢c 6c7c¢c 8b 9c 20c 11 ¢ 12 b 13 ¢c 14a 15c¢ 16-b

Page 15 1 a 25 b 225 ¢ 784 d 961 e 8464 81 g 3136 h 49 i 3721 j 1024 k 7225 | 608 2az2 b1
c3d4 e7 f8 g5 hoi10 j12 k6 L11 3a28 b17 ¢37 di3 e 14 f49 g 21 h 34 {18
j16 k15 163 4a 1.69 b 3136 ¢ 62.41 d 27.04 e 44.89 f 69.7225 g 68.89 h 69.2224 i 126.5625 § 94.09
k 29.2681 | 492.84 5 a 31.4721 b 10.24 ¢ 39.8161 d 60.84 e 28.09 f 182.25 g 34.81 h 46.24 i 231.04

j 4489 k 84.64 1801025 6a 23 b 26 c73 d28 e 18 97 g28 h26 i79 j29 k 29 186
Pace 16 Allanswersareinem. 1 a5 b 13 c10 d 26 e 17 £25 2a 9.8 b 7.1 ¢ 140 d 87 e 59 f 188

g 10.8 h 85 i 7.2
Pace 17 Allanswersareinem. 1 a6 b8 c 24 d4 e 9 f15 2 a 9.90 b 12.39 ¢ 13.89 d 17.35 e 8.39

f 1040 g 18.90 h 20.03 1§ 6.62 . )
Page 18 Allanswersaeincm. 1 a5 b5 ¢ 8 d7 e% f10 2 a 15.0 h x=10.0,y=10.4 c 145 d 9.9 e 9.0
f9.0 gi41 h 78 1 14.6 ’

Page 19 1 e, f g,i,j, k 1

Pace 20 1 76cm 2 13.7cm 3 16.0¢cm 4 16.6cm 5 23.3cm 6 12.1cm 7204cm 8 99cm 9 10.39 em

10 47.51cm 11 42,06 cm 12 5.20m 13 6.98 14 6.54 15 11.18

Paces 21 & 22 1D 2D 3A 4C 5C 6D 7C 8B 9A 10D 11 B 12 B 13 C 14 B 15 ¢C

Pace 23 169 2 yes 3 yes 4 6cm 5 12¢m 6 50cm .7 8.66m 8 500m 9 1253 m 10 14.21cm 11 11.31cm
12 13.86 cm 13 21.54cm. 14 21.82 cm 15 36.93 cm

Pace 24 1213 b6 c15 d 5 e hypotenuse 2 a right-angled triangle b 10 ¢ 8cm d 5.6m e 11.9m
3ac=0+6 b13m c8cm d5m e3m 4 a *=15.65,y=912 b 20.81 ¢ 3.53m d 24.25m

3 2

1 1 9 3 1 3 3 57 19 . 19 . 11 49
Page 25 1 — = - — = f = = _— = ] —= — [ — 2 — b —
"7 ‘0% s fs 9y M T Tl00 Moo Y30 22 200 P s
5,4 17 N S W SN 21, 13 1 101
C — - —_ S —_— _— —— - _— —— - - & —
500 © 500 ° 40 ' 125 9 800 1000 ' 2000 600 ° 1000 400 T%5 "3 ° 200
9 63 43 71 9 2 -
d —_ — I b - i — o 9 23 37% f3 _2,0[ h 23‘,"010
200 ¢ 200 50 9 00 h o 13 4a3% b7% c11% d 23% e 9% g 245% y

i73% j 231% k 65% 1 8% 5 a 60% b 173% c 20% d 77%% e 65%% f 121%

PAGE 26 1203 502 c1.1 d 0.7 e08 0.6 g 0.65h 045 § 1.55 j 0.95 k 1.05 | 0.25 2a 0.04 b 0.62
€ 056 d 0.657 e 0.687 f 0.374 g 0.689 h 0.536 i 0.596 j 0.917 k 0.439 | 0.689 3 a 0.015 b 0.032 ¢ 0.185
d 0,125 e 0.0625 f 0.2525 4 a 40% b 90% ¢ 60% d 15% e 20% f 45% g 13.8% h 23.4% i 48.2% j 35.6%
k 50.4% [ 57.9% 5 a07% b 09% ¢ 01% d 1.3% e 1.5% f 0.6% g 0.5% h 0.3% i 0.2% j 1.2% k 2.3%

1 3.4% 6 a 135% b 211% ¢ 912.3% d 246% e 687% f 611.8% g 579% h 357% 1 842%

Page 27 1 a 20 b 560 ¢ 960 d 280 e 150 f 270 g 320 h 540 i 300 j 1320 k 260 t 1300 2 a 55

b 157.5 ¢ 1008 d 1625 e 600 f 112.5 g 525 h 33.75 1 776.25 j 255 k 798 | 453.75 3 a 3.9 b 117.6

€ 803.84 d 58.8 e 471.04 f 4824 g 128.8 h 408.36 i 813.4 j 327.08 k 656.56 | 9248 4 a 3.25 b 89.28

€ 10.92 d 27.47 e 1456 f 101.91 g 2842 h 2546 i 25.35 j 13904 k 85988 | 1044 5 a 15 b 331 ¢ 4113
d 6435 e 3775 f 377 g 101 h 105 i 724 6 a 28 b 84 c 108 d 18.75 e 355 f 110.622 g 30.625

h 67 i 120 -

Page 28 1a $99 b 1i5.2h c $675 d 1040 ha e $1020 f 100.8 min g 600g h 1290L # 1240kg j 114t k $966
L 1435.5cm 2 a $228 b $76.80 ¢ 144m d 1161 e $372 f $3116.60 g $70.50 h $228.75 i $646.48 i $55

k $168 | $396 3 a $330 b 1800L c $440 d 180t e 21m f 510 g $1118 h $1040 i $1433.60 j $1520

k $218.50 [ $3125 4 a $28800 b $300 ¢ $5760 d $3270

PaGE 291 a 10% b 4% ¢ 1.25% d 25% e 15.56% f 20% g 42.86% h 91.1% 1§ 25% j 5% k 37.5% | 12%
2a33% b 1.33% c 833% d 41.67% e 833% f 125% g 20% h 3.125% 1§ 20% j 31.25% k 8.33% | 33.33%
3a625% b 6.67% ¢ 3.89% d 285.71% e 9.375% f 3.2% g 14.29% h 5% i 1.11% j 0.5% k 33.33% | 20%

4a 231% b 17.86% c 556% d 5%
PAGE 30 1 a 340 b 920 ¢ $2400 d 2500 e 66% 2 a 135 b 720 ¢ 80 d 22353 e 460 3 a 1000 b 980
c 600 d 533% e 50 f 7680 g 62.22 h 5760 i 500 j 9062 k 3000 1 187.5 4 a $275 b $32.20 ¢ 40.5

d $20 750
Pace 31 1 28 2 160¢ 3 1900 4 $84 5 $336 6 $794.88 7 $63 8 64% 9 $147 10 60% 11 $43 000
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